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Question 1 of 51

Which one of the following numbers has the digit 2 in the hundred thousands place?

A) 2 430 587

B) 2 340 587

C) 3 240 587

D) 3 420 587

Question 2 of 51

A) 9

B) 10

C) 29

D) 30
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Question 3 of 51

A) 5.503

B) 5.506

C) 5.53

D) 5.56

Question 4 of 51

A) $0.70

B) $1.75

C) $2.10

D) $2.65
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Question 5 of 51

Which one of the following has the same value as 6%?

A)

B)

C)

D)

Question 6 of 51

The sides of a triangle are in the ratio of 3:2:5. The longest side is 90cm. What is the length
of the shortest side?

A) 18cm

B) 36cm

C) 45cm

D) 225cm
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Question 7 of 51

A) 110

B) 81

C) 29

D) 7

Question 8 of 51

Who did 6 fewer sit ups than Naszri?

A) Quah 

B) Muthu 

C) Osmari 

D) Peng Wei
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Question 9 of 51

A) Triangle ABC and Triangle EFG

B) Triangle AEF and Triangle CAG

C) Triangle CAB and Triangle AGF

D) Triangle CAF and Triangle CDF

Question 10 of 51

A) 79

B) 101

C) 158

D) 281
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A)

B)

C)

D)
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Question 12 of 51

A) 202

B) 106

C) 77

D) 48

Question 13 of 51

A) $44

B) $72

C) $96

D) $224
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A)

B)

C)

D)
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Question 15 of 51

A) $12.90

B) $20.70

C) $29.30

D) $37.10

Question 16 of 51

Subtract 72 from 1 000 000

Question 17 of 51

What is the value of 83-4x(9+18÷9)?
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Question 18 of 51

In 1.5÷___ = 0.015, what is the missing number?

Question 19 of 51

Question 20 of 51

A machine prints 35 brochures in 10 seconds. At this rate, how many brochures does the
machine print in 1 minute?

Question 21 of 51
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Please type "done" to proceed to the next question
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Question 24 of 51

Question 25 of 51
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Question 26 of 51

Question 27 of 51



Please type "done" to proceed to the next question
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Question 28 of 51

Question 29 of 51



2 ptsPrimary 5 Maths (Term 4)

2 ptsPrimary 5 Maths (Term 4)

2 ptsPrimary 5 Maths (Term 4)

2 ptsPrimary 5 Maths (Term 4)

Question 30 of 51

Azalea had some money at first. She spent $71 on some plates and bowls. A plate cost $7
and a bowl cost $2. She bought 5 more plates than bowls.



Statement:

Azalea had no money left after spending $71 on some plates and bowls

A) True 

B) False 

C) Not possible to tell

Question 31 of 51

Statement:

Azalea bought 15 plates and bowls altogether 

A) True 

B) False

C) Not possible to tell

Question 32 of 51

Question 33 of 51

Meng saved $47 000 in a bank. The bank paid 5% interest at the end of each year. He did
not withdraw any money from the bank. How much interest did Meng earn at the end of 1
year?
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Question 34 of 51

Question 35 of 51

Please type "done" to proceed to the next question
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Question 36 of 51

The sum of 19 numbers is 889. When 6 numbers are removed, the average of all the
remaining numbers becomes 39. Wha is the sum of the 6 numbers which are removed?

Question 37 of 51

Mrs Seetoh bought some tins of cookies. There were 36 cookies in each tin. Mrs Seetoh
divided all the cookies equally into 12 boxes. She gave 3 such boxes to her pupils and 70
cookies to her colleagues. In the end, she had 65 cookies left. How many tins of cookies did
Mrs Seetoh buy?

Question 38 of 51

The total mass of a box with 30 identical cones and 10 identical rubber rings is 169.5kg.
Each cone has a mass of 3.3kg. The mass of each rubber ring is the same as the total mass
of 2 such cones. What is the mass of the empty box?

Question 39 of 51
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Question 40 of 51

Question 41 of 51
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Question 42 of 51

Question 43 of 51

Question 44 of 51
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Question 45 of 51

A) Mon

B) Tue

C) Wed

D) Thu

E) Fri

Question 46 of 51

b) The coffee-house sold 21 more pancakes on Saturday then on Friday. What was the
average amount of money collected from the sale of pancakes on Friday and Saturday?
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Question 47 of 51

Question 48 of 51

b) What was the capacity of Tank Y? Leave your answer in litres.
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Question 49 of 51

Question 50 of 51

b) Find the sum of URT and RPU
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